ES5cmTO. 23 uSv/hZEBX-ERT (1642 9&HFA)

FAL e o BINERET (1 Sv/h) | BINER#% (u Sv/h)

H= 5cm 50 cm 5cm 50 cm

1| B 7 — VRERRR T 0.31 0.12 0.17

4 | ki L P 77 AHE R 0.26 0.10 0.12
B - CHRJE Y R TR T 0.29 0.11 0.14

6 | KR A+ BHUEY ST RGE T 0.31 0.10 0.10
7 — VEEREE T 0.25 0.12 0.14
VEZEERENAR T 0.24 0.15 0.19

10 | K% Bk 2 BRI R A T 0.31 0.13 0.14
VEIE D AR RAE T 0.29 0.11 0.19

17 | HAR KN T 0.35 0.12 0.17
B Y i R RAE T O 0.44 0.14 0.18
HOXZERITRVAE T 0.54 0.17 0.15

18 | s &%ﬁ?%fﬁ%?@ 0.40 0.13 0.21
HHEATNAE T 0.38 0.14 0.07
IV B AR F O 0.30 0.09 0.09
IV B AR T @ 0.27 0.07 0.15

22 | A B S A5 B SR A T 0.28 0.12 0.10

o5 | s ﬂ#ﬁ%ﬂﬂﬁT? 0.25 0.10 0.14
REHRERNIAE T 0.56 0.13 0.15

27 | FkB PREEIE Y S T RENIRE T 0.23 0.09 0.11

40 | K5 e/ NIRRT 0.26 0.13 0.15

45 | REpeamd | REZ 7 7 LAIRGE T 0.26 0.08 0.22
RERHENME TO 0.62 0.33 0.19 0.17

47 | LR REEHENME TO 0.32 0.18 0.20
RERHENME O 0.31 0.16 0.12

51 | & 7 —)VE K E A T 0.62 0.19 0.16

o & R AR T O 0.32 0.15 0.22

52 | #ifa — )
B AN O 0.29 0.12 0.12

54 | b EHR HH R S R R R 0.32 0.10 0.12

70 | TARER KRB RERERAE T 0.47 0.27 0.20 0.12

¢ 50 c m CEEREUEE 28 2 7= PTiE.

BIMERE DO 50c mTHHEMEZ FEh LFE L7,




